139V1H

(ov-TT/00°TT)
1LVVS S¥3a v

34357134

(sv:vT/S0:vT)
1LYVS SH3a £

{os:zT/0STT)
ILVVS S¥3a 'S

VAIVHO0D

(sv:vT/S0:vT)

Qv

(os:0t/0T:01)
1LVVS S¥3a €

ILYVS SH3a £

“HVL "IN IO HENL

{os:0t/ot:0T)
LLYYS S¥3Id €

HIMYL

(og:zT/0S:TT)
1LYVS SH3A 'S

JINIS 'TT

ILYYS AVNIS

IDZINONI

{oe:21/05°TT)
ILYVS S¥3Q 'S

=

{0e:2T/05°TT)
ILVVS S¥3Q 'S

ILVAIg3Q3°a'L

(svvT/S0:vE)
1LVVS S¥3a L

(0£:7T/05°TT)
JLVVS S¥3Q S

vidvyv

{Ov-Tt/00-TT)
LLYVS SH3a ¥

4INIS 'TT

ILLYVS AVNIS

“HI¥3D3T1A3 WITS3L INISTYVAI IMIO YANINVINVZ diTtdVA IDYITIYNNZ 1Y31Z1TYNV AVNIS

“HLNIDANTISE VINNO-3 'dNNMIO JANIDI NND OT YYIAVNIS
“¥IMIDINIO VANINYINVZ VHVIAYNIS HITINTHOO0 IA NIWLEIYDO

“YIDIVIVNYTJOL YNISYSYIN NIWL3YO0 ISIONO AVNIS IVINO4313L 43D
NYAAVNIS Y1 NVAVIAIVTIAVA ‘VANNNGI0 AVNIS NVAVINVTIdVA IAV10Q NYQYVIL¥YS 0LSN NYOVIO
TIVINTO NNOAN 3NIDN3WLINOA FNYIANTINIDIA 3N JNIT0 IDININVIVE WILIDT [THIN YVIAVYNIS “LON

{ov-1T/00:TT) VNI
LLVVS SH3a 7 vZ0Z°90° L0

3435134

ILYVS S¥3a £

i, T vZ07°90°90

3gm3syad

VAAIDI logz/os-TT)
o 3 1LVVS S¥3a 'S
2 (os:01/0T:0T) vEWYSHYS
[LVVS S¥3a € v202°90°S0

VAIVEDOD

(st:vT/sovT)

HIAIS
{LVVS S¥3Q £
nvs
(osiot/or:or) | YE0T0O
IfO10AI8
: ! ILVVS S¥3A €
(sv:wT/S0vT)
e Hyvssyias | 1S3L¥3ZVd
e vZ0Z'90°€0
0£:2T/0S'TT
HI¥YL ;
ILYVS SHIA S
JINIS O] ILVVS AVNIS HIvL

e iy st R aR R nnies s e R e e |

ervt/e0bD)

“NUOL MINVINSO
= 1LYVS S¥3a 9 3gn3sH3d
e IS
{oezt/0STT) |
19
DN LYYSS¥Ia's |

osct/ostn) | VEWVSEVD
lvvssyaq-s | YEOTSO6T

MLLYINILYIA

s
vZ07°50°8¢

Smﬁimm;:
1LVVS S¥3a °S

, i {ov'Tt/ootr) | !SALNvVZVd
Lvvssuiay | YE0TSOLT
3INIS 0T|  ILVVS AVNIS HINVL

IAIANVL AUNIS XVLYO0'Z W3NOQQ “Z ITIA INELIN0 -WILID3 ¥Z0Z-€20C

(ov: YIAIND
it ivvssyzay | YIOT90Z0
1SI9TI8 ¥1OVS i
RS LRSS £ 38N35Y3d
. ¥Z07°90°9C
VAWDE we
i 1LVVS S¥3Q 'S

VYAIVHOOD

{os:
1LVVS SH3a €

ﬁ,wqa,ﬂ\mos,:

VENVSEYI
y207°30°S0

..ﬁ:,
" LLYVS SY3G £
% SRS 1vsS
sotjopar) | FOENW0
H{O10AI8

1LVVS S¥3A §

i 1S31437Vd
¥Z07'90°€0
ik (os:zT/05:TT) "
: YVSS¥Ia's |
HNIS 6|  1LVVS AVNIS | HI¥YL

I
|
|

36N38Y3d
20T S0°0€

3DZION}

{oe:zT/osTT)
|LVVS S¥3Q 'S

NLVAILVIA

(0z:01/0v:60)

VSNVSEYD
v207°S0°6C

” nvs

= v207°S0°8T
!
1LVAI9303°Q'L (oz:
A (O¥:TT/00:TT) 1S3L4vZvd
1LVVS S¥3a ¥ vZ07'S0°LT
4INIS 6]  LLVVS AVNIS HIYVL




